SIMONE

How to
name the
polynomis

Polynomials are named based on two basic.
1. The highest exponent
2. The number of terms

R

10x° +4x° +x—4 3 (from the x°) — Cubic Polynomial
2 (from the xy) Quadratic Trinomial
Ay +2Xy+xy +x+y—4 7 (from the x°y*) — Polynomial of Degree 7
2 8 (add up the exponents: (Difficult to say (Difficult to say unless
1+2+5=8). unless multiply out) multiply out)

(2x"2 + 6X + 5)+ (3x"2 - 2% - 1)‘
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\\/’vﬁh §x’\§ 't'o get §x7‘5 T
STEP1 2x"2 +3x2 = 5x"2

[
Add 6x with with minus 2x to get 4x
STEP2 (6x - 2x) = 4x
Add 5 with minus 1
- 5-1=4
~ STEP3 Answer

SXN2 +4x +4

(-r"2+£§3r-p)-(-1 2r’\2-2pr-8p)
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STEP1

(10s75t)(7stM4)
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exponent together

LEIIILS., 11II1C LI1IEC |
numbers and plus the powerf}
of exponent each variable §

(108"5%7s)
Answer= 7086

Add : s is the power of 1
(usually we don't write it down)

t+t"4 =175

STEP3
Add them together

The answer
1S
70Ss 6t 5
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STEP2

STEPT

A Time x and x together
(X 6) 2 and time x with -6
S N\
Make it to two set x"2-6x

Time -6 and x
together then time -6
and -6 together

-6x+(-6*-6)

(x-6)(x-6)
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Don't forget to STEP 4
time in the middle Combine
-6X-6X= -12X the answer
Then Plus -6
time -6 together Answer : x"2-12x+36

(-6%-6) =+36
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STEP2
minus m to the |
power of 5 withmto ©

the power of 2

STEP1 1
Divide numerator oS
20 by denominator |

of 4 '

Answer is 5

ombine like terms"
The answer |
is (
A i
s5m*3



